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Unit Test Review: Solut

and Acids/Bases 100 -

Name: ) i ) Period: 2 3

1. Define the following terms:
a.  Solute

b.  Solvent

c. Saturated

d.  Unsaturated

Solubility (g of salt in 100 g H,0)

e.  Super saturated
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3 Temperature (°C)
g. Dilute
h. Colligative property a.  In order to make a saturated solution of potassium chlorate at 70°C. how much potassium

chlorate should be dissolved in 100 g of water?

i. Freezing point depression

J- Boiling point clevation b.  How many grams of NaCl should be dissolved in 300g of water in order to make a

saturated solution at 90°C?

2. Whatare 3 factors that can speed up how fast a solute dissolves in a solvent and w hy?

c. Which is more concentrated: a saturated solutions of sodium nitrate at 20°C or a super
saturated solution of calcium chloride hol
of water at 20°C?

2 83g of caleium chloride dissolved in 100g

4. Can a solution be dilute and saturated at the same time? Explain.
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Use the equation for molarity to solve these problems: M = n/V

a.  What is the mola

y of a solutio
water to make a 2.32L solution?

made by dissolving 130.0g of Cu{NOs): in enough

b. How many moles of CrCls were dissolved to make 0.75L of a 0.75M solution?

¢. What is the mass of MgSO; used to create 101mL of a 1.11M solution?

Use the equation for molality to solve these problems: m = n/kg

a.  What is the molality of a solution made by dissolving 25.0g of Nay$ in 1.45kg of water?

b.

How many moles of HF were dissolved in 1500g of water to make a 0.88m solution?,

¢ What mass of CO: was dissolved in 1220g of water to make a 1.25m solution?

Acids/Bases

Define the following terms.

a.  Arrhenius acid

b. Arrhenius base

g

Bronsted-lLowry acid
d. Bronsted-Lowry base
¢. Conjugate acid

f.  Conjugate base

g.  Amphoteric

h. pH

Identify the Bronsted-Lowry acid, Bronsted-Lowry basc, conjugate acid. and conjugate base in

the reactions helow:

a. HSO/" + NH: = 80 + NH

b. H.O + © = OH + HNOs

¢. H0 + HCO:" 2> H 0" + CO

d. F + H.8O0. = HF + HSOs



3. Label the beaker in the picture that represents a strong acid. Label the beaker that represents a
weak acid.
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a. What makes an acid or base strong?

b.  What makes an acid or base weak?

c. List 7 strong acids.

d. List 8 strong bases.

4. List 4 properties of an acid. List 4 properties of a base.

s.

Use the pH equations below to answer these questions.

H = -log[H'] pOH = -log[OH'| pH + pOH = 14.00

[H] = 107" [OH] = 1001 [HT] x O] = 100 > 107 M?

a. Find the pOH ol a solution of HNO; with a pH of 5.45.

=

Calculate the pH of a solution of HCI with a concentration of 6.56 = 107 M.

. Determine the pOH of a solution of HNOj; with a [OH] of 7.67 = 107" M.

B

Find the pH of a solution of RbOH with a concentration ol 8.78 = 10 M.

e. Caleulate the [H'] of an HCIO: solution with a pH ol 2.32,

Calculate the [OH] of a solution of HI witha [H'] of 9.89 = 10" M.

2. Caleulate the [H'] of a solution of KOH with a pOH of 3.43.



